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Look at your writing from yesterday.
Have you used capital letters and full
stops correctly? Have you joined your
handwriting?



TIME FOR A BREAK




Maths

Revision Weight




.

The class are seeing whether the balloon or apple will

weigh more. /’ éﬁé °

va The balloon will be heavier
because it is bigger than the apple.

: The balance will be level because
Whitne .
)’[ they are both red. %

= The apple will go down
because it is Iighter.

The balloon will go up edd
Y because it is lighter.
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/I’m thinking of an\

object. It is heavier

than a pencil, but
lighter than a

q dictionK

What object could Jack be thinking of?
Prove it.
How many objects can you think of?
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Amir says, <
s The apple is heavier than the
‘@ peach, because it weighs 4 cubes. |

jEec s2vs, 4 The apple and the peach weigh )

z ) the same. )

Who do you agree with!?
Explain why.
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How many cubes does the teddy bear weigh?
Explain how you know.
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Complete the sentences below:

The is heavier than the
The is lighter than the
The weighs pencils.

.
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TIME FOR A BREAK




P4 C - discuss

Yesterday you watched the
Easter Story

Is it always good to
forgive people?



